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TNPSC Group 2 Test – 11 

General Studies 

1. Which one of the following is free-floating hydrophytes

a. Water hyacinth b. Water lilly c. Lotus d. Vallisneria

2. Plants that grow is dry areas are called as

a. Xerophytes  b. Hydrophytes c. Epiphytes d. Mesophytes

3. Which one of the following have adventitious root system

a. Neem b. Mango c. Rice d. Amaranthus

4. Which one of the following have Napiform root

a. Carrot b. Radish c. Beetroot d. Potato

5. In xerophytes, the leaf is modified to spines, thus the function of leaf is taken over by stem such stem

is called

a. Phylloclade  b. Stem tendril c. Thorn d. Leaf Spine

6. Bacteria belongs to kingdom

a. Monera b. Protista c. Fungi d. Plantae

7. Among the kingdom Plantae which one is having very less species

a. Bryophyte b. Pteridophyte c. Gymnosperms d. Angiosperms
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8. Match the following

Phylum Characters 

A. Arthropoda - 1. Have backbone

B. Annelida - 2. Soft bodies with shell

C. Mollusca - 3. Body is segmented

D. Chordate - 4. Have jointed legs

A B C D 

a. 1 2 3 4 

b. 4 3 2 1 

c. 4 2 3 1 

d. 3 4 1 2 

9. Who among the following is Father of Taxonomy

a. Hippocrates b. Aristotle c. John Ray d. Carolus Linnaeus

10. Rana haxadactyla  is the zoological name of

a. Pigeon b. Frog c. Cockroach d. Housefly

11. Which State Government to set up India’s First Blood Bank for Cattle

a. Odisha b. Tamil Nadu c. Karnataka d. Uttar Pradesh

12. Who has taken over as President of the International Economic Association

a. Ankit Kawatra b. Kaushik Basu c. Harsh Vardhan d. Dalveer Bhandari
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13. Which one of the following city was named World Book capital for the year 2019 by UNESCO

a. Paris b. New York c. Sharjah d. Mumbai

14. Who was appointed as ambassador for Government’s skill India campaign

a. Priyanka Chopra b. Amir Khan

c. Amitabh Bachchan d. Sachin Tendulkar

15. Recently which Country has legalised same sex marriage

a. France b. Russia c. England d. Germany

16. The US has issued new criteria for visa application from six Muslim Countries. Which one Country

is Not  included in this list

a. Pakistan b. Iraq c. Iran d. Somalia

17. Which one of the following committee was related to Goods and Service Tax

a. T.V. Kattimani Committee b. Asim Dasgupta Committee

c. K. Kasturirangan Committee d. K.J. Alponse Committee

18. The Election commission of India has joined hands with which social media to launched nationwide

voter registration reminder

a. Google b. Twitter c. Whats app d. Facebook
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19. The First ATM was opened on June 27, 1967 in which one the following city

a. Washington DC b. Tokyo c. London d. Paris

20. Who has won the  Miss World title in Body Building Championship 2017

a. Niharika Gupta b. Bhumika Sharma c. Pinki More d. Teena Kumari

21. One volt is equal to

a. 1 joule / 1 meter b. 1 joule / 1 coulomb

c. 1 coulomb / 1 meter d. 1 coulomb / 1 joule

22. Which one of the following statement is correct about Galileo?

1. Galileo observed the motion of objects on an inclined plane

2. He deduced that objects move with a constant speed when no force acts on them

a. 1 only b. 2 only c. 1 & 2 d. None of these

23. PH Scale was introduce by

a. Alexander Borodin b. Sorenson

c. Paul berg d. Robert William

24. The term global village was coined by

a. Marshall McLuhan b. Richard Abegg

c. Petr Agre d. Friedrich Accum
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25. Which particles present in coal will cause acid rain

a. Carbon b. Sulphur c. Nitrogen d. Hydrogen

26. The weight of a body is

a. The same everywhere on the surface of the earth

b. Maximum at the poles

c. Maximum at the equator

d. More on the hills than in the plains

27. A telescope and a microscope differ in that

a. Both are different instruments

b. Telescope has eyepiece with larger focal lengths that the objective

c. Telescope has objective of large focal lengths and eyepiece of smaller focal lengths

d. None of these

28. Galvanometer can be converted into a voltmeter by using

a. A low resistance in series b. A high resistance in series

c. A low resistance in parallel d. A high resistance in parallel

29. Match list I correctly with list II and select your answer using the codes given below:

List I (Scientist) List II (Discovery) 

A. Copernicus 1. Moons of Jupiter

B. Kepler 2. Law of gravitation
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C. Galileo 3. Heliocentric theory

D. Newton 4. Laws of planetary motion

A B C D 

a. 1 2 3 4 

b. 4 3 1 2 

c. 3 1 4 2 

d. 3 4 1 2 

30. Atom bomb is based on the principle of

a. Nuclear fusion b. Nuclear fission c. Chemical reaction d. None of these

31. Identify the wrongly matched

a. Tomato - Lycopersicon esculentum

b. Mango - Mangifera indica

c. Rice - Oryza sativa

d. Potato - Pomis nucifer

32. Among the components of ecosystem select the odd one out

a. Temperature b. Humidity c. Sunlight d. Fungi

33. Consider the following statement about Tropical Rain Forest

1. The Rainfall is plentiful, 190cm per year

2. In India they found in Himalaya

Which one of the above statement is/are correct?
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a. 1 only b. 2 only c. Both d. None of these

34. Boreal Forest refers to

a. Savannah b. Deciduous Forest  c. Taiga d. Tundra

35. Vana mahotsav an annual Indian tree planting festival is celebrated in the month of

a. May b. July c. September d. November

36. Match the following

Biome Flora 

A. Tropical Rain Forest - 1. Grasses

B. Savannah - 2. Acacia

C. Deciduous Forest - 3. Spruce

D. Taiga - 4. Rubber

A B C D 

a. 2 1 4 3 

b. 1 2 3 4 

c. 2 4 3 1 

d. 4 1 2 3 

37. Identify the wrongly matched pair:

a. World Wetland Day - February 02

b. World Environment Day - June 05

c. World Forest Day - March 22

d. Earth Day - April 22
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38. Osteoporosis can be prevented by increased intake of

a. Iron b. Iodine c. Calcium d. Potassium

39. Consider the following statement about Fungi

1. They are non-green organisms and lack chlorophyll

2. Their body is made up to Mycelium and hypae

Which one of the about statement is/are correct?

a. 1 only b. 2 only c. Both d. None of these

40. The Edible Button mushroom belongs to genus

a. Agaricus b. Amanita c. Calocybe d. Erymothecium

41. Manushi Chhilla has become the 2017 Femina Miss India World. She hails from Which State

a. Goa b. Jammu & Kashmir  c. Haryana d. Bihar

42. Which India movie has won the best action movie award at the Shanghai International Film Festival

a. Sultan b. Dangal c. Rustom d. Baahubali

43. Which Indian shuttler has won the Australian open super series badminton trophy

a. Chetan Anand b. H.S. Prannoy c. Kidambi Srikanth d. Mulyo Handayo
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44. Which State Government of India has won the prestigious UN public service awards for 2017

a. West Bengal b. Karnataka c. Odisha d. Sikkim

45. Which State Government launched ‘My Plant’ mobile app on tree plantation

a. Tamil Nadu b. Maharashtra c. Kerala d. Goa

46. Who has won the 2017 Sahitya Academy Yuva Puraskar in English language

a. Ram Mori b. Pratim Baruah c. Manu S P illai d. Shamik Ghosh

47. Which Indian city has become the India’s First city to use robot to control traffic

a. Raipur b. Pune c. Kochi d. Indore

48. Which city has become the India’s first city to deliver diesel at home

a. Guwahati b. Shillong c. Bengaluru d. Pune

49. The 2017 United Nations Public Service Day is observed on which day

a. June 21 b. June 22 c. June 24 d. June 23

50. Who has been appointed as the head of the newly created United Nations Counter Terrorism Office

a. Vladimir Voronkov c. Sergey Lavrov

c. Vladimir Kolokoltser d. Dmitry Medvedor
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51. When a vehicle passes, TV reception gets distorted due to

a. Metal reflecting radio waves

b. Spark plug creating electromagnetic disturbances

c. Passing vehicle affecting TV components

d. Use of electronic ignition system

52. Why do rain – bearing clouds look black?

a. All light is scattered by them

b. They reflect the sunlight back into the atmosphere

c. The large number of water droplets in them absorb all the sunlight

d. There is a lot of dust condensed on the water vapour in these clouds

53. The sky is blue in colour because of

a. The moisture present in the air

b. The scattering of light by dust particles or air molecules

c. combination of various lights producing blue colour

d. All of these

54. The density of pure water will be

a. Maximum at 4
0
 C b. Minimum at 4

0 
C c. Maximum at 0

0
 C d. Minimum at 0

0
 C
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55. Nib of a pen is split keeping in view the phenomenon of

a. Osmosis b. Diffusion c. Capillarity d. Cohesion

56. Primary colours are

a. Red, blue, and yellow b. Blue, green and yellow

c. Green, red and yellow d. Red, blue and green

57. If the depth of floatation of a ship changes when it sails from the Arabian sea to the Indian ocean, it

is due to

a. Change of Pressure b. Change in weight of the ship

c. Change of direction d. Change in density of sea water

58. A sudden decrease in the barometric pressure indicates

a. A stormy weather b. A fine weather c. A wet weather d. A dry weather

59. A solar eclipse occurs when

a. The sun, the moon and the earth are not in the same line

b. The moon comes between the sun and the earth

c. The earth comes between the sun and the moon

d. The sun comes between the earth and the moon

60. When the pressure increase, the boiling point rises. The device which uses this principle is

a. Pressure cooker b. Electric iron c. Electric Heater d. Manometer
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61. The pigment that is responsible for Brown colour of sargassum is

a. Phycocyanin b. Chlorophyll c. Fucoxanthin d. Phycoerythrin

62. The Algae that is used in space travel to get rid of CO2  and to decompose human urine is

a. Chlorella Pyrenoidosa b. Gelidium Pigmentosa

c. Gracilaria Speciosa d. Laminaria Speciosa

63. Which one of the following is not a Monocotyledon

a. Paddy b. Maize c. Wheat

64. The study of Algae is known as

a. Mycology b. Phycology c. Algalogy d. Nephrology

65. Bacitracin is the antibiotic produced from

a. Bacillus Subtilis b. Streptomyces Griseous

c. Bacillus Turigienesis d. Bacteriophage

66. Penicillin notatum which is used to produce penicillin is a

a. Bacteria b. Algae c. Fungi d. Protozoa
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67. Which one of the following is not a nitrogen fixing bacteria

a. Nitrosommonas b. Azatobactor c. Clostridium d. Rhizobium

68. The sugar solution, if fermented with Acetobacter aceti, will produce

a. Alcohol b. Vinegar c. Oxalic acid d. Alginic acid

69. Algal bloom leads to loss of species diversity, which is known as

a. Bio-geo cycle b. Eutrophication

c. Biological oxygen demand d. Natural Selection

70. Ozone is a colourless gas found in

a. Troposphere b. Stratosphere c. Mesosphere d. Thermosphere

71. The Bhawal National Park is located in which Country

a. Bangladesh b. India c. Sri lanka d. Myanmer

72. What is the theme of the 2017 International Yoga Day

a. Yoga for Health b. Yoga for Peace

c. Yoga for Healthy Mind d. Yoga for Healthy living

73. The first ever BRICS Games 2017 has started in which Country

a. South Africa b. Russia c. China d. Brazil
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74. Who has become the new brand ambassador to promote goods and service tax

a. Amir Khan b. Amibath Bachchan

c. P.V. Sindhu d. Sachin Tendulkar

75. Who has been re-nominated by India for another term as judge at the International Court of justice

a. Dhananjaya Chandrachud b. Madan Shimrao Lokur

c. Dalveer Bhandari d. Harish Salve

76. Who has won the 2017 Men’s singles Indonesia open super series badminton tournament

a. Parupalli Kashyap b. Prannoy Kumar

c. Kidambi Srikanth d. Chetan Anand

77. Where is the headquarters of the United Nations Economic and Social Council (ECOSOC)

a. Paris b. Geneva c. Berlin d. New York

78. Who is the newly appointed Indian Ambassador to European Union

a. Reenat Sandhu b. Gaitri Issar Kumar

c. Ajit Vinayak Gupta d. Rajeav Shahare

79. Who has won the 2017 Man Booker International prize

a. Ian Samson b. David Grossman  c. Roy Jacobsen d. Amos Oz
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80. Which IIT institute will confer honorary doctorate degree to PT Usha

a. IIT Madras b. IIT Kanpur  c. IIT Indore d. IIT Bombay

81. Which falls down fastest in vacuum, a feather, a wooden or a steel ball?

a. wooden ball b. Feather ball

c. Steel ball d. All will fall down at the same speed

82. The base of an electric iron is highly polished mainly to

a. Make it smooth and friction less b. Make it rush proof

c. Reduce heat loss by radiation d. Make it more durable

83. To find the temperature of the sun, the following law is used

a. Charles law b. Stefan’s fourth power law of radiation

c. Boyle’s law d. Kirchholff’s law

84. Match List I correct with List II and select your answer by using the codes given below:

List I List II 

A. Electrical capacity 1. Ohm

B. Electric current 2. Farad

C. Electromotive force 3. Ampere

D. Electric resistance 4. Volt
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A B C D 

a. 1 3 2 4 

b. 2 3 4 1 

c. 2 4 1 3 

d. 3 2 1 4 

85. Two glass plates having a little water in between cannot be easily separated because of

a. Viscosity b. Friction c. Surface tension d. Atmospheric pressure

86. When a body is taken from the earth to the moon, its mass

a. Increases b. Decreases c. Remains unchanged d. Becomes zero

87. Grass looks green because

a. It absorbs all colours in the spectrum except green

b. It absorbs only green colour from the spectrum

c. The eye absorbs only green colour from grass

d. None of these is correct

88. A hot body will radiate heat most rapidly if its surface is

a. White and polished b. White and rough

c. Black and polished d. Black and rough
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89. Milk inside a thermos flask is stirred vigorously by shaking

a. Its temperature would further increase b. Its temperature would fall slightly

c. Its temperature does not change d. Its temperature first increases & then decreases

90. A women’s voice is shriller than a man’s voice due to

a. Higher frequency b. Higher amplitude

c. Lower frequency d. Weak vocal chords

91. Consider the following

1. Alcaligens are bio degradable plastic material naturally produced using microorganism.

2. It is a hetero polymer (Polyethylene Butyrate).

Which one of the above statement is/are true

a. 1 only b. 2 only c. Both d. None of these

92. In India the social forestry project was started in

a. 1976 b. 1972 c. 1986 d. 1991

93. India has a large variety of plants, about 45,000 species, arrange the following is descending order

based on their species diversity

1. Flowering plants 2. Algae 3. Lichens

4. Fungi 5. Gymnosperms

a. 1, 3, 2, 4, 5 b. 1, 4, 3, 2, 5 c. 1, 2, 3, 4, 5 d. 5, 1, 4, 3, 2
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94. Among the following fauna of India, Which one is largest in number

a. Insects b. Mammals c. Reptiles d. Amphibians

95. The Breeding area of Hawksbill Turtle is on the coast of

a. West Bengal b. Orissa c. Andhra Pradesh d. Tamil Nadu

96. Identify the wrongly matched pair

a. Mundanthurai and Kalakkadu sanctuary - Lion tailed monkey 

b. Mudumalai sanctuary - Elephant

c. Viralimalai sanctuary - Wild peacocks

d. Kodikkarai sanctuary - Grizzled squirrel

97. Black lung disease is a occupational disease among

a. Coal miners b. Sand quarrying c. Brick Kilns d. Glass industry

98. The Bhopal gas tragedy, in which thousands of people died due to inhaling of methyl iso cyanate

happened in the year

a. 1974 b. 1984 c. 1986 d. 1989

99. Minamata disease is caused due to contamination of

a. Silver b. Mercury c. Iodine d. Radiation



P
ag

e1
9

100. Expand DDT

a. Dichloro Diphenyl Trichloroethane b. Diphenyl Dicloro Trichloroethane

c. Dichloro Dibutyl Trichloroethane d. Diphenyl Diphenyl Trichloroethane

101. What is the India’s rank in the 2017Global Innovation Index (GII)

a. 60 b. 36 c. 54 d. 75

102. The 2017 G-7 Environmental Ministry meeting was held in which city

a. Bologna b. Paris c. New Delhi d. New York

103. Who is the author of the book ‘Yug Punsh Bharat Ratna Atalji’

a. Ramesh Pokhriyal b. Praveen Kumar Panday

c. Ramesh Datt Dikisht d. Nerraj Srivastave

104. Which State Government has launched Pashu Bazar website for online cattle sale

a. Andhra Pradesh b. Goa c. Mizoram d. Telangana

105. The World largest refinery and petro chemical complex will be set up in which Indian State

a. Uttar Pradesh b. Maharashtra c. Bihar d. Jharkhand

106. The Valmiki National Park is located in which State

a. Bihar b. Jharkhand c. Uttar Pradesh d. Gujarat
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107. Who has won the 2017 formula 1 Canadian Grand prix tournament

a. Lewis Hamilton b. Valtteri Bottas c. Daniel Ricciardo  d. Sebastian Vettel

108. India’s first underwater metro tunnel will come up in which Indian city

a. Mumbai b. Kolkata c. Kochi d. Pune

109. Who has won the 2017 French open women’s singles tennis tournament

a. Krishna Mladenovic b. Garbine Muguruza

c. Jelena Ostapenko d. Simona Halep

110. How many Indian States share border with Myanmar

a. 4 b. 3 c. 5 d. 2

111. The process responsible for the enormous energy in the sun is

a. Nuclear fission b. Nuclear fusion

c. The burning of gases d. As yet unknown

112. The scientist who first sent electromagnetic waves to distant places is

a. James Clark Maxwell b. Heinrich Hertz

c. Thomas Alva Edison d. Baird

113. When a body moves with uniform velocity its acceleration is

a. Doubled b. Tripled c. Zero d. Maximum
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114. The principle of Dynamo was discovered by

a. Sir Humphry Davy b. Michael Farady c. Albert Einstein d. Max Planck

115. When common salt is mixed with ice, the melting point

a. Is lowered b. Is raised

c. Remains the same d. Is first lowered and then raised

116. Non-stick kitchenware’s are coated with

a. PVC b. Graphite c. Teflon d. Silicon

117. The fibre least prone to catch fire is

a. Nylon b. Polyester c. Cotton d. Terylene

118. Helium gas is filled in balloons because

a. Its atomic number is 2 b. It is lighter than air

c. It is one of the constituents of water d. It is a noble gas

119. The fungicide Bordeaux mixture consists of

a. Borax and copper sulphate b. Borax and calcium hydroxide

c. Boric acid and calcium hydroxide d. Copper sulphate and calcium hydroxide
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120. The substance used in the manufacture of high voltage insulators is

a. Natural rubber b. Silicons c. Silicon carbide d. Synthetic rubber

121. Identify the wrongly matched pair

a. Forest Art - 1980

b. Environment Act - 1986

c. Motor Vehicles Act - 1988

d. Water (prevention, control of pollution Act) - 1992

122. In case of  life cycle of malarial parasite, the asexual state occurs in

a. Anopheles mosquito b. Man c. Water d. Air

123. Point Calimere wildlife sanctuary is located in

a. Tirunelveli District b. Tuticorin District

c. Nagapattinam District d. Kanniyakumari District

124. The design of chemical products and the process to reduce or eliminate the use and

generation of hazardous substances is known as

a. Clean chemistry b. Green chemistry c. Intelli chemistry d. Bio-geo- chemistry
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125. Among hydrophytes, the plants that found in lakes and ponds are known as

a. Marine habitat b. Lentic Habitat c. Lotic habitat d. None of above

126. The concept of Ecosystem was first put forth by

a. E.P.Odum b. Clarke c. A.G. Tansley d. Mendel

127. The progressive replacement of one community by another in a ecosystem until a stable

climate community occupies is called

a. Food chain b. Food web

c. Sere d. Ecological succession

128. Guano are important in the usage as

a. Fish meal b. Fertilizers c. Adhesives d. Lubricants

129. The scientific management and production of silk is

a. Sericulture  b. Horticulture c. Apiculture d. Aquaculture

130. The unique feature which differentiates fish food from other animal protein is the presence of

a. Omega 3fatty acids b. Saturated fatty acids

c. Poly unsaturated fatty acid d. None of the above

131. Who is the author of the book Indira Gandhi – a life in Nature.

a. Jairam Ramesh b. Chandi Prasad Bhatt

c. Anadish Kumar Pal d. Sunderlal Bahuguna
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132. The World Day against child labour is observed on which date

a. June 12 b. June 11 c. June 13 d. June 10

133. Sarita Singh is associated with which sport

a. Badminton b. Hammer Throw c. Wrestling d. Table Tennis

134. Headquarters of International Olympic Committee is located in which Country

a. Switzerland  b. France c. UK d. US

135. India’s first rural LED street lighting project will be under taken in which States

a. Telangana b. Andhra Pradesh c. Punjab d. Haryana

136. Who has been appointed as brand ambassador for the wildlife trust of India

a. Deepika Padukone  b. Raveena Tandon  c. Dia Mirza d. Sushmita Sen

137. Which city corporation is set to introduce India’s first Public Bicycle sharing service

a. Jaipur b. Indore c. Kochi d. Mysore

138. Who has been appointed New Attorney General of India

a. K.K. Venugopal b. Mukul Rohatgi c. Ashok Desai d. Milon Banerji
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139. The Aadhaar card has now been made mandatory for Government subsidy on which

commodity

a. Sugar b. Rice c. Wheat d. Kerosene

140. First ever UN International Day for MSME was celebrated on which date

a. 23
rd

 June 2017 b. 24
th

 June 2017 c. 26
th

 June 2017 d. 27
th

 June 2017

141. Match list I correctly with list II and select your answer using the codes given below:

List I      List II

A. Nuclear model of an atom 1. J.J.Thomson

B. Empirical atomic model 2. Bohr

C. Elliptical orbits of electrons in an atom 3. Rutherford

D. Model of hydrogen atom 4. Sommerfield

A B C D 

a. 1 3 2 4 

b. 1 2 3 4 

c. 2 1 3 4 

d. 3 1 4 2 

142. The commonly used refrigerators in fridges is

a. Ammonia b. Liquid nitrogen c. Liquid oxygen d. Freons

143. The chemical added to the colourless LPG cooking gas to give odour is

a. Chlorine b. Bromine c. Nitrogen d. Sulphur
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144. Rainwater helps to increase the ----- of the soil

a. Phosphorous content b. Nitrogen content

c. Calcium content d. Potash content

145. All acids essentially contain this element

a. Chlorine b. Hydrogen c. Oxygen d. Sulphur

146. Human bone does not contain

a. Oxygen b. Phosphorous c. Carbon d. Calcium

147. Consider the following statements:

1. Graphite is an allotrope of carbon

2. Diamond is a metal

3. Graphite is a non-conductor of electricity

4. Diamond is the hardest naturally occurring substance

which one of the above statement is/are correct

a. 1 and 4 correct b. 1 alone is correct c. 1, 2, and 3 correct d. All are correct

148. The percentage of gold in 18 carat is

a. 50 b. 60 c. 75 d. 80
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149. The calorific value of the fuel is of the order

a. Coal > peat > lignite > dried wood

b. Peat > lignite > coal > dried wood

c. Lignite > peat > coal > dried wood

d. Coal > lignite > peat > dried wood

150. In Haber’s process

a. SO2 is manufactured b. H2O4 is manufactured

c. HNO3 is manufactured d. NH3 is manufactured




